% 20201010101
4 APEX DYNAMICS, INC.

(&Y
BEBRERNE  WHHIHRN > B3
WA R S, -

”

a. T RHE LRE2R - Y Er#Es R ERSEMURY  BEUE » £
) S oo Ut N7 /TR o HWWE -

Sl | smEaTan  wenErRE

THOUE - EERRRMET

: A
i, ="

BURNEASE  URMENE (R—) RESE S
NEZ 5% » K 1~4 DB » BRFBHBS =8 L
e & -

1% BELERIEBE I RN - URMEBNDR (R—)
BECHBNE  K1~4WIEF » BEDRFF R
HE -




 x— EETIT LYl

—_— ANABERST |5 8.8 sk SHE T A 10.9 IRk SHEH IR 12.9 R4k S
[mm] [Nm] [In-Ibs] [Nm] [In-Ibs] [Nm] [In-Ibs]

M3 x 0.5P 2.5 1.3 12 1.8 16 2.1 19

M4 x 0.7P 3 3 27 4.1 37 4.9 44

M5 x 0.8P 4 6.1 55 8.2 73 9.8 87

M6 x 1P 5 11 98 14 124 17 151
M8 x 1.25P 6 25 222 34 302 41 364
M10 x 1.5P 8 49 434 67 594 80 709
M12 x 1.75P 10 85 753 116 1028 139 1232
M14 x 2P 12 137 1214 186 1648 223 1976
M16 x 2P 14 210 1860 286 2534 343 3038

- FETIE L YR

. FE BT BRELR R T FNAEER ST SHESH
S e a
[mm] [mm] [mm] [Nm] [In-Ibs]
AB042 AF042 E=RE] <11 M3 x 0.5P x 8L 2.5 2.1 19
AEO50 AFX042 R =17 M3 x 0.5P x 8L 2.5 2.1 19
AB0O60 AF060 B <14 M4 x 0.7P x 12L 3 4.9 44
AE070 AFX060
AN023 ANO023B %Eﬁ <11 M3 x 0.5P x 8L 2.5 2.1 19
AB090 AF075 B <19 M5 x 0.8P x 14L 4 9.8 87
AE090 AFXO075 —
ANO34 ANO034B %%EU <14 M4 x 0.7P x 12L 3 4.9 44
AB115 AF100 EEEf <32 M6 x 1P x 16L 5 17 151
AE120 AFX100 R <19 M5 x 0.8P x 14L 4 9.8 87
AB142 AF140 EEAE( <38 M8 x 1.25P x 20L 6 41 364
AE155 AFX140 T <32 M6 x 1P x 16L 5 17 151
AB180 AF180 EERETH] =48 M10 x 1.5P x 25L 8 80 709
AE205 AFX180 o <38 M8 x 1.25P x 20L 6 41 364
AB220 AF220 EEAE( <55 M12 x 1.75P x 30L 10 139 1232
AE235 i <48 M10 x 1.5P x 25L 8 80 709
ABO60A AFO60A
AFX060A T <14 M4 x 0.7P x 12L 3 4.9 44
ANO23A AN023C
ABO90A AF075A
AFX075A AT <19 M5 x 0.8P x 14L 4 9.8 87
ANO34A AN034C
AB115A AF100A -
AB142A AF140A e
AFX140A A <38 M8 x 1.25P x 20L 6 41 364
fEE © RAASNTT MBS EIME - BAEEEES - TRHNTITIS N B E > 209 - DUBGRITHE -
:3‘:*,; FEEE  +886-4-24650219 / {HHE : +886-4-24650118
P APEX DYNAMICS, INC. ETFE45 : sales@apexdyna.com / #gik : www.apexdyna.com

ik B mPEEERE =R 10 3

APEX-2018-11-2C



	精銳-AB-中文-01
	精銳-AB-中文-02

